


pg. 298 #1, 21, 23, 25, 27

1. An equation has an equal sign and an
expression does not.

21. See Taking Math Deeper.
23. 13
25. 28
27. B



pg. 312-313 # 3,7-11 odd, 15, 19, 25, 27,

35, 38

3, dx_ 2
4 4

7. s=70
9. x=24
1M1. a=4
15. x=15
19. ¢ =066

25. 3x=45; 15 teams

27. 9 units

35. length: 20 in.; width: 5 in.
38. C



pg. 319 #1, 5-17 odd, 22, 23, 27, 38
I (44 exercises.)

Display Cols
1. Sample answer: An independent
variable can change freely. A
dependent variable depends on the
independent variable.

5. A= 9h where A is the area in square
feet and h is the height in feet; A
depends on h.

1. yes

9. no
11. yes
13. wisindependent and A is dependent.
15. pisindependent and 7is dependent.
17. $270

22. Sample answer:c = 1.5t + 5
where ¢ is the number of toppings

and c is the total cost of the pizza.
Ch
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23.

27.

38.

Sample answer:

¢ = 25m + 35 where m is the number
of months and c is the total cost of
the gym membership.
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See Taking Math Deeper.



pg. 329-331 #2-4,7-13 odd, 21-24,25,27,29,32, 39

2. Anumber nis at least 3;
n=3n<3

3. The graph of x < 6 has a closed circle
at 6. The graph of x < 6 has an open
circle at 6.

4. Both graphs are the same, because
both indicate that x is less than or
equal to 5.

3

4

9. 1+y<-13

7. z <

11. vyes

13. ves

21. x < 1; Anumber xis less than 1.
22. x < 1; Anumber xis at most 1.
23. x = —4; Anumber xis at least —4.

24. x > 0; Anumber xis more than 0.

25. ottt
2 0 2 4 6 8 10
27. -ttt
6 4 -2 0 2 4 6
29, --——t—t—t—ttt+1++++1>
4 2 0 2 4 6 8
5 3 5 3 3 3
32. <1ttt
6 -4 -2 0 4 6



39. a. b3

et T < } -
1 2 3 4 5
b. /> 18;
-+t * I } I
17 18 19 20 21












pg. 342 #1, 7, 9, 15-23 odd, 24, 27, 31, 35

1. The solution of 2x = 10 includes the
solution of
2x = 10, x = 5, and all other x values
that are greater than 5.

7. n>12

-1+ e

4 4] 4 8 12 16 20
9. ¢ =99;

~——— 1ttt

0 33 13 99 132
15. x < 15;

B B e e T N I e

6 1] 6 12 18 24 30
17. v < 81;

] ptetp—————— >

19. w < 32;
-

21. x = 48;

23. 8x<168;x <211t

24, X > 6; x = 30 students

S

27. 225 = 12w;18.75 = w

31. 80x>2.272
x > 6.8 yards per play

35. yes;a > bandx >y



pg. 344 #1-17 all

1.

10.
11.

12.

13.
14.
15.
16.
17.

o v oA W N

x>0

2c> —8

yes

yes

- e
& 4 2 0 ) 4 G
-+
4 2 0 2 4 & 8
5 5 ] 5 5 ]
x <4
-t
5 4 2 1] 2 4 B
g§<2;

B e A I
2] 4 2 0 2 4 &
xX—2>15:x>17
T+x<27;:x<20

a < 16;
e ———
16 B 0 8 16 24 32
s<1lI;

B e e S A S
0 2 4 & 8 10 12
3x>18;x>6

84 > 7k; 12 =2 k
19.95x > 89.95

45 < 52;s<13ft
x+12>30;x=>18












7.6 - Solving Inequalities Using Addition or Subtraction

Solve the inequality. Show all steps of your work. Check your answer.

24) t+ 54 <856 25) g-98>12

Write the word sentence as an inequality. Then solve the inequality.

26) The total of % and a number is no more than 2. 27) A number minus 7 is at least 31.

28) Hairy Harry is cooking a turkey. The turkey must reach a temperature of at least 165 degrees to be fully
cooked. The temperature is 135 degrees. Write and solve an inequality to represent the number of
degrees the temperature must increase for the turkey to be done.

7.7 - Solving Inequalities Using Multiplication or Division







pPY.558 #7-21 odd, 30-32

7.

11.

13.
15.

17.

19.
21.

30.

31.
32.

Terms: 2n, —n, —4, 7n;
Like terms: 2n, —n, and 7n

Terms: 1.4y, 5, —4.2, —5y%, z;
Like terms: 5 and —4.2

2x*is not a like term, because x is
squared. The like terms are 3x and 9x.

11x+ 2
—-23v—-75
1

3—2y

—p — 30
10.2x; The weight carried by each
hiker is 10.2 pounds.

14.51in., 14.81n., 151n., 15.3 in., 15.8
n.

0.52 m, 0.545 m, 0.55 m, 0.6 m, 0.65 m

C



pg. 564-565 #11-25 odd, 28, 29,31

11.
13.
15.
17.
19.
21.
23,
25.

28.
29.

31.

6x — 18
17

m+ 1
55w + 145
—3g—4
—12y + 20
—2C

The —3 was not distributed to both terms inside
the parentheses.

4m+9) -3C2m-5=4m+9—-6m+ 15
=4dm-6m+9+ 15
= —-2m+ 24

8n

0.25x + 0.15

\x—3

\—x+3

, or equivalently
;0,6




pg. 567 #5-12 all, 13, 14
4(5z — 2)

53w + 13)

4(9a + 4b)

7(3m —7n)

1
b= 1)
“d+2)

w0 N oW

10.

11. 2.2(x + 2)
12. 4(}:—3]
4

13. —

14. ——(2x + 5y)



pg. 574 #13-27 odd

13
15

17.

19.

21.

23.
25.
27.

g=-10
y=—2.08
_ 7
q 18
w = —113
24

The 8 should have been
subtracted rather than

added.

x+8= 10
-8 —8
X = 2

c+10=3;¢c= -7
p—6=—-14,p= -8

p + 2.54 = 1.38;
—$%1.16 million



pg- 580 #15-29 odd, 34, 35, 37, *40
15. p=-8
17. n=28
19. g=-16

21. f= 52

23. They should divide by —4.2.
—4.2x = 21
—42x 21
—-42 —42

25.

27. ——=21;x=-31.5

29. ¥ —123. 3781
30 5

34. All of them except “multiply
each side by —% J

35. —1.26n = —10.08; 8 days
37. —50ft

3
40, 15 days



pg. 586 #7, 13-25 odd, 26-28, 29-33 odd

7. b=-3
1
13. p= 32
15. h=-35
17. y=—6.4
19. Each side should be divided by —3,

not 3.

B8R = T
—3x=-9
i

-3 -3
GR=
21. a=1.
3
nl
23. b=13
2
25. =
30

26. —4x+35=-1;
9 hours (10:00 p.M.)

27. 2.5+ 2.25x = 9.25; 3 games

28. 30 + 0.25x = 59.5;
118 text messages

29. v=-5
31. d=-12
33. m=-9

















